CHAPTER 10 – MONOPOLISTIC COMPETITION AND OLIGOPOLY  (6e)
I. Monopolistic Competition

A. Characteristics of Monopolistic Competition

Many producers

The product of each firm has close substitutes

The industry output is not homogeneous

The firm has some power over the price it charges, making the firm a price maker
Barriers to entry and exit are relatively low

B. Product Differentiation

Producers in a monopolistically competitive industry produce products that are at least slightly differentiated.  The differentiation is based on physical aspects, location, service, and image, as discussed on p. 218.

C. SHORT-RUN Profit Maximization

Offering a differentiated product gives the seller some market power over its price, creating a downward-sloping demand curve and making the firm a price maker.

[The monopolistically competitive firm’s demand curve is more elastic (flatter) than a monopolist’s but less elastic (steeper) than a perfect competitor’s.]

When the demand curve slopes down, the MR curve also slopes down, lies below the demand curve, and is twice as steep as the demand curve.  MR is calculated in the same manner as was done in Ch. 9.

1) The “Total Approach”

Total profit is maximized by producing the level of output at which TR exceeds TC by the greatest amount.

(A graph for the total approach is not shown in Chapter 10, but would look much like the monopoly graph, p. 203, Exhibit 6 panel b.)
2) The “Marginal Approach”

Remember Rule #1:  

Ex. 1, panel (a):

Read this graph in the same manner as was described in Ch. 9:

(1) Find the point where MR=MC, then go down to the horizontal axis to find the profit-maximizing quantity.

(2) From the profit-maximizing quantity, GO UP TO THE DEMAND CURVE AND THEN OVER TO THE VERTICAL AXIS TO FIND THE PROFIT-MAXIMIZING PRICE!

(3) Calculate the difference between the price and the ATC at the profit-maximizing quantity to determine the profit per unit.  Then multiply profit per unit times quantity to get total profit.

OR you can multiply PxQ to get TR, multiply ATCxQ to get TC, and then subtract TC from TR to get total profit.

D. SHORT-RUN Loss Minimization

1) The “Total Approach”

If the firm must operate at a loss (i.e., if TC>TR at all levels of output), total loss is minimized by producing the level of output at which TC exceeds TR by the smallest amount.

(Again, no graph is given to depict this situation.  You should be able to figure out how such a graph would be drawn.)
2) The “Marginal Approach”

Remember Rule #2:  

Ex. 1, panel (b):

At the profit-maximizing level of output found where MR=MC, P<ATC (the demand curve lies below the ATC curve), but since P>AVC the firm will produce and minimize its losses.  

The loss per unit is shown by the vertical distance between points b and c.  The total loss is shown by the shaded rectangle.

Shutting down to minimize losses:  If P<AVC, the firm will minimize losses by shutting down temporarily, thereby incurring a loss = the firm’s FC.

(Again, no graph is given in this chapter to depict the shut-down situation, but you should be able to draw it.)

E.
Zero Economic Profit in the LONG RUN
Since barriers to entry are very low, short-run economic profits will attract new firms to enter the industry.  This will increase the competition for consumers, reducing the demand facing each firm, until profits disappear and all firms are earning zero economic profit, i.e., until all firms are breaking even in the long run.

Short-run economic losses will cause some of the existing firms to leave the industry, causing consumers to switch their demand to the remaining firms, until losses disappear and all firms are earning zero economic profit, i.e., until all firms are breaking even in the long run.

Ex. 2:

In long-run equilibrium, P=ATC and economic profit = zero.

[Recall that due to easy entry and exit in the long run, perfectly competitive firms also earn zero economic profits.  Compare Ex. 2 on p. 221 to Ex. 9, panel a, on p. 179.  How are they similar?  How are they different?]

F.
Monopolistic Competition and Perfect Competition Compared
Ex. 3

Shown are the graphs for long-run equilibrium in perfect competition (panel a) and long-run equilibrium in monopolistic competition (panel b).  In both cases, economic profit is zero in the long run.
Under perfect competition, output is produced at the lowest possible average cost in the long run.

Under monopolistic competition, output is not produced at the lowest average cost in the long run.  In long-run equilibrium, output is lower and price is higher than under perfect competition (assuming that firms have identical cost curves).  In other words, the monopolistic competitor could produce more output than it does, at a lower average cost, and could charge a lower price.  However, the higher price may be viewed as necessary to reward suppliers for supplying differentiated products which offer consumers more choices to enjoy.

II. Introduction to Oligopoly

Characteristics of Oligopoly:

There are only a few sellers in the market.

The industry output may be either homogeneous or differentiated. 

Firms are interdependent:  each firm considers how its own policies will affect its rivals, and vice versa.  The more homogeneous the products, the greater will be the interdependence among the firms in the industry.  This interdependence makes the behavior of oligopoly producers difficult to analyze.

Barriers to entry are relatively high; economies of scale, legal restrictions, control over an essential resource, and/or brand name recognition enjoyed by existing firms mean that very large investments on the part of potential entrants would be necessary for them to be able to compete.  This makes entry into the industry difficult.  Read about this on pp. 225-227.

III.
Models of Oligopoly

There is no single general theory or model of oligopoly behavior.  The interdependence among oligopoly firms causes a variety of behaviors, which means that various models exist to explain these behaviors.  We will look at just two models of oligopoly behavior in fairly simplified form.

A.
Collusion and Cartels

[Note:  Collusion and cartels are illegal in the U.S. but exist in certain other countries; there are no international laws against cartels.]

Sometimes the firms in an oligopolistic industry may engage in collusion.

Definition of collusion:

Collusive behavior may lead to the formation of a cartel.

Definition of cartel:

Benefits of collusion/cartel to producers:

Disadvantages to consumers:

How a cartel works:  The firms choose the output level and price that will maximize profit for the whole group of participating firms.  This is done by following “Rule #1”.  (See Ex. 5.)  Then the cartel members decide how much of the total output each firm will produce.  This is usually where the trouble begins!  Read about the problems encountered by cartels on pp. 229-230.

B.
Price Leadership

[Note: The practice of price leadership is usually a violation of U.S. antitrust laws.]

In some industries, one firm or a few firms may set the price and the other firms follow.  This reduces the uncertainty about rivals’ behavior and decreases price competition.

The organization of the industry brought about by price leadership breaks down if other firms fail to follow the price leader, or if products are differentiated enough that each firm feels justified in setting its own price.

C.   Game Theory

Omit this section, from the bottom of p. 230 to near the bottom of p. 234.

If you are interested in this topic, you should consider taking Economics 4319, Game Theory, which is an entire course devoted to the topic.
D.
Comparison of Oligopoly and Perfect Competition

IF a perfectly competitive industry could be transformed into an oligopolistic industry, what changes would we expect to see?


Compared to perfect competition, industry output would be lower and price would be higher under oligopoly, due to barriers to entry, fewer competitors, the possibility of collusion, and higher LRAC.  (Of course, price wars and increased output caused by intensified rivalry could drive prices lower and output higher.)
Profits could very well be positive in the long run under oligopoly because of barriers to entry, whereas in perfect competition firms break even in the long run because of easy entry.
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